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HFE @ FEerdpportionment of marks
EPart-A - EARE A General English 20
HIPart-8 - FHEE 7 Wi dilew sEaGanersl Knowledge & Reasoning Abifity 15
HEP-C | FEEOaAntmetic 15
HPa-0 [ FEEY A Computer Literacy 10
qrmPart-£ - Bevomemw e Descriptive Type Questions i
HALWINSTRUCTIONS

e 8

TRT-GF TR FETHT 4 &7 & #1The question paper is in the form of test booklst.
FrgirT et Far Fevonens qeRt & I Aae F IRv s it B S

Answer Booklet will be provided for answering Objective lype guestons and
Descriptive type guestions

T Fegieve ave & AT ow d wfbw s G o w3 & el Wt Be oo
fameat & # oAy gt O gaww e 7 BEE (387 a), b), o) W d) F AT A 3T
gﬁw # gty g F Frae Raer gl Each objective question s provided with
multiple answers which includes one coffect ansiwer, EEI|I‘H:II|:I&1-E5 have ta chooss the
correst answer and write  a), b), ¢} or d) as the case may be, agains! the gquestion
number in the space provided in the Answer Booklet. )
seT A, B, C 0¥ D & Fnt avgier gl & BT vwow vE G ST E A3 Revonens
geat & g & B 10 ww F #Hiv BE swweer & AT 10 4= Al objective questions in
A B, C & D parts carry 1 mark each, In part E, 3 descriptive type gquestions carry 10
marks each and 10 marks for Hindi Grammar,

faEr GRe @ O & NF S aet @ a9, UF #TAN & Joowl @l S Fiew Sy

Multiple answers for questions will be regarded as wrong answer,

T QAT A IR F H o i B o aeon @

Space available in the Cuestion booklet can be wsed for rough work,

EET A (1) VAT OV & 5 A (2) 3e gl e at ate &

At the end of the fesi (1) Admit Card with pholograph and (2) Answer Booklet shall be
returned to the Invigitator,



1, A true patriot s always loyal ———— his country,
a) for b) o c) about d) an

3. | have some Aoqualnianta - - French.
a) at b) for ch ta d} with

3. The inspector was a yigllani young man.
a) Intelligent b) Watchful ¢} Ambitious dy Smart

4. The time | spent in the library was a most ewarding ona.
a) Profitable b) Paying ¢l Serviceable d) Precious

5 The notice said that meeting would begin precisely at 9.30 AM.
a) Approximately b} Exacily ) Accurataly d} Concisaly

In_these guestons. oul of four aliernatives, choose the one which can be subsiituted for the
given wordsisenlence,

6 Prohibited by law or treaty from being Imporied or exported.
a) Contraband b} Smuggled ¢) Counterfeit d) Forged

7. A person in a vehicle or horseback escoring another vahicle
a) Mavigator b) Escort ¢} Outrider d) Security

B, A person living permanently in a certain place
a) Native b) Domicile c) Resident d) Subject

Wrongly spelt word in the following questions may be (dentified.

g &) Defamation b} Arrogant ¢} Exhorbitant d) All comec
10. 8) Decompose b) Veteran c) Ventursome d) All comect
11. a) Wastefull b) Prejudice ¢} Embarrassing d] All correct
12. a) Significant b) Possassive c) Impatient d} All coerect

13 a) Prosperous b Glumy &) Domant d) All cofract



The postmaster first ook up his duties in the village of Ullapur. Though the villege was a
small oneg, there was an indige faciory nearby and the proprietor, an Englishman had managed
I get a post office established.

Our postmaster balonged to Kolkata, He felt like a fish out of water in the remote village,
his office and living room were in a dark thatched shed, not far from a green, shimy pond,
surmounded on all sides by & dense growth.

The man employed in the indigo factory had no leisura; moreover they were hardly
desirable companions for decent folk. Mor 5 a Holkata boy an adept in the arl of associating
with others, Among strangers he appears the posimaster had but litthe company, nor had he
much 1o do.

At times he tried his hand wring & verse or two. That the movement of the leaves and
clouds of the sky were encugh to fill life with joy such were the sentiments to which he sought
o give expression, bul God knows that the paor fellow would have felt it as the giff of 8 new
life, If some penie of the Arabian Nights had in one night swept away the trees, leaves and all,
gnd replaced them with a macadamized road, hiding the clouds from wiew with rows of tall
housas.

14. Find the word in the passage which is opposite o ‘near’
a) remole b} convenient c} unknown d) close

15, Find the word in the passage which means ‘the owner of business’.
a) Proprietor b} Constructor c] Entreprensaur d) Businessman

16. The adjective used 1o describe the postmaster living room s
g} deep b bright ¢ dark dlight

17. What doas the phrase ‘litle company’ in the passage mean 7
#) Businass-ike bl bad fmendship
€} hardly any friends dismail business

18. At times the postmasier wrote
a) dramas b} poems c) Movels djshort stories

18, The postmaster wrote on the
a) Beauty of the village bl beauly of nature
) besuty of himself d} beauty of weather

20, The word ‘genie” means
a) soul b} monster chapirit d} ghost



21,

22,

23.

24,

23

26,

v,

i feR qEnt & 3k 2018 7 ST AT W qOER e R g2

Who has been awarded with the Dada Saheb FPhalke Award for the year 2018 in the
Mational Film Awards?

a) o ®qIiSashi Kapoor b) =E @==1/Vinod Khanna

) 3FTH WAnupam Kher d) #1E FAEAMano| Kumar

AR SHT HEEr sl B/ Wha i the current Chairman of ISRO?

a) 2l & TFEEETEDe. K Radhakrishnan b) A7 31 & A0 $#F0TShd A S Kiran Kumar
e} . & fra=r/Dr. K Sivan d) 41 3ff snrEs AER/Shi G Madhavan Nair

I & e #7A & AwiName of the Assam Chief Minister

a) MU gt Bhupen Hazarka by T @ Tarun Gegol
c) HEHZ AErESarbananda Soncwal d) s geeraBiju Patnaik

Hurarg T F gAYy B @9 @ ¥7/Miabai Chanu is related to which spart?

a) SR Weight lifting b) B=fFraiBadminton

c) T!Eh‘.l'u".l'msmng d) *HE ZFETable Tennis
fee fEdY Reuw g o8 e Rsr s @ &7

On which day every year Vishwa Hindl Diwas is celebraled?

a) 14 fraEtiSeptember b) 10 sr=Edllanuary

¢} 12 PaaSeptamber d) 14 F=aEdnJanuary

E-r-EeE @ e fees 1 dr7Deen-E-liahi is founded by:-
a) @TaT/Babar b) HFaETiAkbar £) wdliiKabear d) dreangiSharshah

FH 0 T Ao WA & g A7
Which of the following Is a book not written by Chetan Bhagat?

a) WET 9B AFgEFive point Someonea by & HEr EEAUThe White Tiger

¢} T FTH 2 States d) gre a1 $=Half Gid friend
AT R BRE FOET & AT £

Elon Musk is the CED of which Company?
a) tm_g:fFane boak b} TEFATAAmazon
¢} IEHE/Google d) 99 B Space X



29. WA= ST WHE AT
Mama he cumment Chisf of the Naval Staffy

a) Fete FF FAINimal Kumar Verma b) = & vasRebin K Dhowan
¢) &dw AN SnfiDevendra Kumar Joshi d) @ @iENSunil Lanba

30, sz Afger Baw =9 Fr ST #7/When s International Women's Day Celebrated?
a) 14 FEa/November b) 5 WHTUSeplember
c) B #TMarch dy 10 F=FaiiJanuary

31, wyemETe TOp (7) & v w 3fe fasew geeer e
Find out the commect choice 1o replace the guestion mark(?)

arew c Bdaww o0 woE ?

Drama : Director: ; | Newspaper 7

a} Frfes/Owner b) ATEREditor

¢} WAt Manager d) FEA FEHColumn Writer

2. gy w9
Tallor : Cloth  : : Cobbler - 7

a) mf=Machine b) A#TFHERepainng
c) =FETLeather d) B Sewing
Fh FEGl H T 1= = A T '-Eﬂ-' 3 a

Pick 1 T he followi is which i f simil I
33. a) F¥cyBarometar b) wHEfERTThermometer

c) saratesDiameter d) dFErEeT/Lectometer
34, a) greliCircle b) FE=/Elipse

c) &iSquare d) T5/Sphere

IBOKY, FdW, HIU JHS . ?

a) KGR b LPQ £} KFR d LGO

HEPart C
FEAoalArithmetic

36.(0.2 X 3.5X8) + (0.7X1BX12) = 7

a) 2198 by 20.72 ¢} 27.02 d) 25.34
3123 X33 =79

a) 39.99 b) 3863

c) 4053 d) ST # F5 @EHNone of these



38. Fe=Rfaa @R & meeat @ sftea F g
What will ba the sverage of the following set of scores?

283, 345, 442, 786, 242
a) 416.9 b} 4178 c) 4196 d) 4215

36.7% &5 5 HE F 35 TR A Zir A s ) 0% iR W A = & A | 13§
HElHA 2 U2 A FRal g0 9 ®EM7A tain covers 315km In 5 hours. The speed of a
bicycle is 1/3™ the speed of the train, How much distance will the bicycle cover in twa
hoursT

a) 45 Fat/km b) 41 & km
g} 44 ik aikm dl 42 ks km

40. 9t MY FEe Y aEE ag & e oA 405§ af orw ae & A ae i am e
e 56§ amer & & §UR v aEem g @ @7 The ratio between the present
ages of Swdhir and Madam is 4:5. If after 5 years the ratio of their sges becomes 506,
what is the present age of Sudhir?

a) 18 afiyears b) 21 gdiyears ¢} 22 aliyears d) 20 =diyears

41. 7000 ZEt & oW 5740 F. B SW 2 W NEH & ¥ET & F= Ay Al 806 ¥ §1 9T 1000
ot & A 7 @ a2 gee
Cost of 7000 bricks is RBs.5740. Cost of labour 1o carry the bricks to the building place is
Rs. BOS5. What is the cost at per thousand bricks?

a) 900 wRs. u} 750 WRe, ) 800 RAs. d) 935 WRs

427w &7 #e d\ 7 A9 aw I § ot 13 A dw o ) @e o At & AW S e
o A9 Sa?
A base ball team has lost 7 maiches and has won 13 matches, What percent of the
maiches played did they win?

a) 35 b) 30 ) 65 d) 50

43 TR U&F I 15%&:@5?13!11 136 & & daar B 15% A & T 3 29 Oew fea o
#94T TET?  Ram sold a cow for Rs. 136 at a loss of 15%. At what price should he
have sold it to gain 15%7

a) 184 %Rs. b) 186 ®Rs. ¢) 180 %/Rs. d) 189 Rs

44 T v w20 Bt # wr mar &) 3Ee s 10 RS o s fean 9y s 3 2 B
7 Teeter o FEE @ O B Tw e e e et B B2 & qo B e s
Ramesh can do a work in 20 days. He worked alone for 10 days. Remaining work was
completed with the help of Dinesh in 2 days. In how many days will the woark be
completed by both together?

a) 2 RADays b) 3 R='Days £) 5 fBEF/Days d} 4 fDays



45, TF o= WA 47 fET 540 T F) 0 319 FFA & FAg e el
The prize of one dozen pens is Fs. 540. What will be the price of 319 such pens?
a) 14355 T/Rs. by 12345 ®Rs. cj 14250 TRs. d) 14350 %Hs.

465, e FaT W wEm oo 46T IRE W AE A 20 T s B @ S A R
#7The sum of three consecutive odd numbers is 20 more than the first number of these.
What |s the middle number?

a) 7 b) 9 e) 12 d) 8

47, UF g 15 . 79 For 10 N dter §) of @ & ok 6 of B A anh SEnt a e
Fr WA hall s 15m long and 10m wide. f the height of the hall is 6m, what Is the
area of its four walis?

a) 150 #4m? b 300 #im? g) 90 Hrlim? d) 900 W im'
4B.U% ged @ Biwar 10% werr awen ko s aOn . @ e B

The radius of the circle is diminished by 10%, the area is diminished by:

a) 10% b) 15% c} 19% d) 20%

49, 9 o TeoE ared 8 AT &) O # MEe aE 67
Each side of the cube measures 8 metres, What Is the volume of the cube?
a) 72 Cu.m b) 144 Cum
£} 196 Cu.m d] =79 & w5 AfiNone of these

50, Feafaida 4ol A sl 55 Jmne
Which of tha fallowing number will sppear In the series?

5, 15, 24, 33, 42, 51, .
a) 58 b) 58 c) 62 dy B0

HETPar D
#woey AWIComputer Literacy
51. v TB %= One TB Is equal to
a) 1000 sfvGe b) 1024 NGB c) 1036 FdGE d) 256 =GB

52 Frer andu & =% & oY & W Taewe fRw ST w1 B The entire test in woed s
selected by the follawing command.
a) Ctrl+a b) Ctri+Z c) Crrl+y d) Cirl+P

53, foee @ & & gaqe feamw &7 @ B2 Which one of the following is the input device?
a) FEIhonitor b) MEUPonter ) T Scanner d) FiESpeaker

54, HTTP # 379 @7 #eas §2HTTP stands for
g} Head Tail Transfer Protocol
b) Hypertext Tail Transfer Protocol
c) Hyperext Transfar Protocol
d} Hyperext Tell Transfer Protoool



55 FAM 1 7 What is RAM?
a) Random Access Memory
b) Read Automatc Memory
¢l Handom Accessing Memaory
d) Random Allowable Memary

56. www Fl HY FET & www stands for
a) World Whole Web b) Wide World Web
c) Web Word Wide d) World Wide Web

§7, #91 ART F47 §72/What does MANTRA refer to
g) @iy FEATeA & TR A SERT W SR FEI
An application software used by Minisines for office aulomation,
b) &% WA ¥EE A machine Alded Translation tool
c) uftega wival & reafRe R & fAv gge HEEET S
An application software used for automatic maintenance of transport vehici
d) gt & #r% wfiNone of these

58, @7 & g afawEndt (st sl aEmde da w & TR EEE T I fwhich
of the Tollowing font s used to prepare the documents in bilingual{Hindi & English)
a) DVITT..... b) DVBTT....... c) DVOT....... d) DVTT.....EN

5. frl Fqer @ S =2 B (The physical component of a computer is
a) WA Software b) FEduT Hardware
e) #Er #drEg/Central CPU d) TUALALU

60, taeIr TR & Fw Few RS A @ ©fF w39 W @ AT w39
gtEmWhich one of the following is the most sultable keyboard fayout for Devanagar
script?

a) FER=INSCRIPT b) &3 wefeaEasy phonetic
c) wEifrw sv@nrPhonetic English o) Zrguuget 1Tae=Typewriter Remington

uETPant E
faEueA® weA/Descriptive Type question

61 et fee fwgt & el ¢ @ ey Wil
&} FreparoT W) ARTUE-UF O 1) o (10 3®)

Ezmwﬁﬂvtmaﬂﬂr#$ﬂiaﬂ#mﬂm#§vaﬁﬂmwmmﬁﬂﬂm
mﬁmﬂﬂuaﬂﬁgwwﬁ-‘lﬂl {10 %)



63 Frafafes J=wy F1 = & veat 38s A R av geEl & aer weg A RE (10 )
WA F EAE A Ay e mew gt B oIoer & o wosr s d e
AR FT T B T A A e searan fy s ael S O §) 9, S a1 @
3t FEen @1 AN S A E) A A SR s e w0 ar 1 § F e Sl
A A FO AeE @ I b e weh R omre & et B sEwser e §oar S
T AU T I FN I F 01 wgfeet| Jg A T FAem W A g
Rer #ff e &9 Fera 2w & S0 @ &gEd § 49 T AT A9 & e A
Fead & e e g s @ | T AW A W AT W swoaw Boaw A b
f 5o arasr @t T A wEel @l s, wamee, qfeE s e g sk ardr @
1 e & A STt vd TEEE OfT & wem gem el us gl § s 8 ot 9
e oy A s W Bt T af g@em o amdr eor #Y R oawre @ mer B g oF Al @
wrE Temn @ g Rend) ol o 30 s R g 0R Wl A @3 @ ARET S6T H
i o7 ey oA w AE R an ok
WO 1 0 IS T AT w AR W R 7
oWt 2 ;| TETA o O 18 & fae o BeEm 7
W 3 ;o Had # ard & at & wwr g B 2
e 4 ;A W e B 7
uw 5 ;U 3ad s &
64, Fee=riaifde aerat & aw Hifaw (2 3F)
(i) +% ok & sdafat & B g
(i) o & fR s AY ot W R T S fEEm

65, FwTata mert & wi i w Ry g e (2 3%)
() reder &1 |9
(%) T B (=) Fadt T (m e e (=) &=t A
(il) 3 O T a
() TAT 9F e @I (@) omTe B @ () fAe o P (m) giiere @
66. PR = wap & B o e (2 ¥%)
(i) T e e o R

:.|}34§ﬁaama;1ﬁvaﬂw
(i) 3 g7 & oo e i

(iv) @ a9 & 97 8

67 Fe=fatde et & Tofonds (Fee) emx e (2 3%)
(i) afergiex (i} F=pamar (i) FeaarEer (v RRE

GR. Fa=aray fAvsat &1 R A (2 %)

(i) (i) =wFos (i) S (iv) &%

LELE LR R L



